APPC

Final Fall 2005

Answer the following using nouns, verbs, and –ly words showing your path to solution.

1. Determine the missing values on the portfolios below and the grade on the fall final so that Tally can get a B for the semester with the least amount of effort. Explain your rationalizations. Assume no late charges.


	
	1st Quarter
	2nd  Quarter
	

	Overarching Process
	3
	4
	

	7 Systemic Parts of APPC
	0
	 
	

	Your Ability to Test
	2
	3
	

	Growth
	4
	2
	

	Inquiry
	 
	1
	

	Web Page/Free Choice
	2
	 
	

	Journal
	3
	4
	

	
	
	
	


2. A cack is thrown on Earth at an angle of 137 degrees with the horizon toward a fence 111 meters away. The fence is 12.5 meters tall and the cack hits it. Sketch the graph of X-position vs. Time, Y-position vs. Time, and Y-position vs. X-position. Give the equations for each graphical model. Use the given values as the constants.

3. Explain how to get a graph like this one.
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4. Determine the displacement for the motion described by the graph above. Assume the Window below.
                                   [image: image2.png]



5. Give the specs for this Cow. Identify the four functions d(t), v(t), a(t), and j(t).
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6. If a person runs one-third of a 21 meter race at 5.5 m/s, the second third at 1.1 m/s, and the last third at 7.7 m/s graphically show the average velocity, and the time it took for the race.
7. The velocity of a skateboard moving on a straight sidewalk is given in km/hours as a function of time in hours by the following equation:
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What is the distance traveled between 155 and 2107 seconds? What is the acceleration at 2107 seconds?
8. How many gee pounds in 2 Quarters on Venus?

9. Where would the center of pressure be for the following rocket? The mass of the body of the rocket is 5.55 x 101 grams.

[image: image5.jpg]



10. Make the IP slimer do like this.
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11. Get the k value for this data from the Egg Kisser.

	Mass Supported by the Probe (g)
	Force Recorded (N)

	10.0
	-1.77

	15.0
	-2.66

	35.0
	-6.22

	45.0
	-8.00

	65.0
	-11.55

	80.0
	-14.22

	95.0
	-16.90


12. Add these vectors: 

A (14N, 22˚, 47˚)

B (21N, 122˚, 247˚)

C (34N, 155˚, 347˚)

13. What do you do if you are confused about Sig Figs?

14. Give the Force, Acceleration, and Velocity for an express elevator that moves from the 1st floor to the 27th floor and then stops at the 28th and 29th floors. Use (+++) for Force, (000) for Acceleration, and (---) for Velocity.
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